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(Consideration about type 2 elliptic integral)
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double ellipticIntegral2(double phi, double e, double tolerance = 1.0e-15);
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double ellipticIntegral2(double phi, double k, double tolerance)

{
if (k< 0.0) | | (k> 1.0) return NAN;
if (k < tolerance) return phi;
if (k > 1.0 - tolerance) return Sin(phi);

double n =2.0, e = 0.0, a= 1.0, sn = phi;
double ¢ = cos(phi), s = sin(phi);

for (int j = 0; (abs(a * sn) > tolerance) && j < 3000; ++j)

1
e += a*sn;
a *=(n - 3)/n *k*k;
sn = ((n - D*sn - pow(s, n - 1)*c)/n;
n += 2.0;
}
return e;
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